Summary of Bids Received Project: Gilmer Road Resurfacing Section: 11-00079-17-RS Description: Hawley Street to Diamond Lake Road CPMS Pin: B-00687 Let Date: 03/22/2011											
Bidder Peter Baker & Son Company Curran Contracting Company Payne & Dolan, Inc. J. A. Johnson Paving Company	Address 1349 Rockland Road 286 Memorial Court 28327 W. Route 173 1025 E. Addison Court	City, State, Zip Lake Bluff, IL 60044 Crystal Lake, IL 60014 Antioch, IL 60002 Arlington Heights, IL 60005	Bond Bid Bond Bid Bond Bid Bond Bid Bond	Bid Price \$2,567,211.10 \$2,594,415.06 \$3,051,694.74 \$3,130,614.14	-30.70% -18.48% -16.37%	\$ Over/Under Eng. Estimate -\$1,176,322.4(-\$1,149,118.44 -\$691,838.76 -\$612,919.36					
Engineer's Estimate Design Finance Construction	IDOT(2) Bid Tab File	Contract Bidder Resident Eng. Request By Mail	<u>م</u>	\$3,743,533.50 //GB then Plan Ra //dministrative Assi	ck						

Alle	LakeCounty
	LakaCounty
	Lakecounty
	Division of Transportation

Return Bid Tabulation

Project: Gilmer Road Resurfacing Section: 11-00079-17-RS Description: Hawley Street to Diamond Lake Road CPMS Pin: B-00687 Let Date: 03/22/2011

	Day Oakla	Description	Quantitu	11-14	F F	lanata	0		L A Jahmann D		D 0 D	alan laa		0
Item No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	Extnd. Price	Curran Contract Unit Price	Extnd. Price	J. A. Johnson Pa Unit Price	Extnd. Price	Payne & D	Extnd. Price	Peter Baker & Unit Price	Extnd. Price
1	20101400	NITROGEN FERTILIZER NUTRIENT	202.00	POUND	\$3.00	\$611.70	\$2.00	\$407.80	\$1.00	\$203.90	\$2.00	\$407.80	\$1.00	\$203.90
2		POTASSIUM FERTILIZER NUTRIENT		POUND	\$3.00	\$611.70	\$2.00	\$407.80	\$1.00	\$203.90	\$2.00	\$407.80	\$1.00	\$203.90
		SUPPLEMENTAL WATERING	32.90		\$115.00	\$3,783.50	\$48.00	\$1,579.20	\$50.00	\$1,645.00	\$48.00	\$1,579.20	\$15.00	\$493.50
5	20101700	EXCAVATING AND GRADING EXISTING	52.50	UNIT	φ115.00	ψ3,703.30	φ40.00	ψ1,573.20	ψ00.00	ψ1,0 4 3.00	φ40.00	ψ1,575.20	φ15.00	φ433.30
4	20200600	SHOULDER	485.70		\$220.00	\$106,854.00	\$188.20	\$91,408,74	\$325.00	\$157,852.50	\$175.00	\$84.997.50	\$215.00	\$104,425.50
		SEEDING, CLASS 2A		ACRE	\$1,900.00	\$4,370.00	\$2,200.00	\$5,060.00	\$3,000.00	\$6,900.00	\$2,200.00	\$5,060.00	\$1.00	\$2.30
		EROSION CONTROL BLANKET	10,977.50		\$1.80	\$19,759.50	\$0.85	\$9,330.88	\$2.25	\$24,699.38	\$0.85	\$9,330.88	\$1.50	\$16,466.25
0	20100000		10,077.00	OQTE	φ1.00	φ10,700.00	φ0.00	ψ0,000.00	φ2.20	φ24,000.00	ψ0.00	ψ0,000.00	φ1.00	ψ10, 4 00.20
7	35100500	AGGREGATE BASE COURSE, TYPE A 6"	262.50	SQ YD	\$12.00	\$3,150.00	\$4.00	\$1,050.00	\$9.00	\$2,362.50	\$6.20	\$1,627.50	\$4.00	\$1,050.00
		AGGREGATE BASE COURSE, TYPE A 8"		SQ YD	\$23.00	\$7,935.00	\$4.00	\$1,380.00	\$10.00	\$3,450.00	\$8.40	\$2,898.00	\$4.00	\$1,380.00
9		BITUMINOUS MATERIALS (PRIME COAT)	33,104.00		\$3.25	\$107,588.00	\$0.01	\$331.04	\$0.01	\$331.04	\$0.01	\$331.04	\$0.01	\$331.04
10		AGGREGATE (PRIME COAT)	579.40		\$1.10	\$637.34	\$1.00	\$579.40	\$0.01	\$5.79	\$1.00	\$579.40	\$1.00	\$579.40
11	40600990	TEMPORARY RAMP	645.60	SQ YD	\$25.00	\$16,140.00	\$16.95	\$10,942.92	\$3.00	\$1,936.80	\$17.20	\$11,104.32	\$1.00	\$645.60
		HOT-MIX ASPHALT BINDER COURSE, IL-												
12	40603085		14,151.40	TON	\$70.00	\$990,598.00	\$58.40	\$826,441.76	\$66.55	\$941,775.67	\$60.30	\$853,329.42	\$55.00	\$778,327.00
		HOT-MIX ASPHALT SURFACE COURSE,												
13		MIX "D", N70	12,476.90		\$63.00	\$786,044.70	\$60.75	\$757,971.68	\$71.94	\$897,588.19	\$67.80	\$845,933.82	\$59.15	\$738,008.64
14	42001300	PROTECTIVE COAT	99.00	SQ YD	\$3.00	\$297.00	\$3.60	\$356.40	\$1.00	\$99.00	\$2.00	\$198.00	\$2.00	\$198.00
		HOT-MIX ASPHALT SURFACE REMOVAL, 1					a		·					
15	44000155		16,220.40	SQ YD	\$2.25	\$36,495.90	\$1.70	\$27,574.68	\$1.79	\$29,034.52	\$1.70	\$27,574.68	\$1.85	\$30,007.74
		HOT-MIX ASPHALT SURFACE REMOVAL,			· · · ·									
16	44000157		69,080.10	SQ YD	\$2.75	\$189,970.28	\$1.80	\$124,344.18	\$2.19	\$151,285.42	\$1.80	\$124,344.18	\$2.10	\$145,068.21
		HOT-MIX ASPHALT SURFACE REMOVAL, 4												
	44000167		11,955.70		\$3.75	\$44,833.88	\$4.00	\$47,822.80	\$4.40	\$52,605.08	\$3.90	\$46,627.23	\$3.50	\$41,844.95
18	44000200	DRIVEWAY PAVEMENT REMOVAL	607.50	SQ YD	\$15.00	\$9,112.50	\$8.00	\$4,860.00	\$9.00	\$5,467.50	\$6.30	\$3,827.25	\$4.00	\$2,430.00
		COMBINATION CURB AND GUTTER												
19		REMOVAL	596.50		\$8.00	\$4,772.00	\$4.80	\$2,863.20	\$3.00	\$1,789.50	\$5.00	\$2,982.50	\$5.00	\$2,982.50
20		CLASS D PATCHES, TYPE I, 11 INCH		SQ YD	\$100.00	\$55,080.00	\$32.00	\$17,625.60	\$30.00	\$16,524.00	\$51.20	\$28,200.96	\$35.00	\$19,278.00
21		CLASS D PATCHES, TYPE II, 11 INCH	826.20		\$150.00	\$123,930.00	\$32.00	\$26,438.40	\$30.00	\$24,786.00	\$40.70	\$33,626.34	\$35.00	\$28,917.00
22		CLASS D PATCHES, TYPE III, 11 INCH	2,478.50		\$140.00	\$346,990.00	\$32.00	\$79,312.00	\$30.00	\$74,355.00	\$39.80	\$98,644.30	\$35.00	\$86,747.50
23		CLASS D PATCHES, TYPE IV, 11 INCH	1,652.30		\$130.00	\$214,799.00	\$32.00	\$52,873.60	\$30.00	\$49,569.00	\$38.40	\$63,448.32	\$35.00	\$57,830.50
24	48100100	AGGREGATE SHOULDERS, TYPE A	6,955.30	TON	\$22.00	\$153,016.60	\$19.05	\$132,498.47	\$5.00	\$34,776.50	\$17.30	\$120,326.69	\$18.00	\$125,195.40
		COMBINATION CONCRETE CURB AND												
		GUTTER, TYPE B-6.12 (ABUTTING												
25	60603900	EXISTING PAVEMENT)	316.10	FOOT	\$50.00	\$15,805.00	\$21.65	\$6,843.57	\$15.00	\$4,741.50	\$25.00	\$7,902.50	\$25.00	\$7,902.50
		COMBINATION CONCRETE CURB AND												
		GUTTER, TYPE B-6.24 (ABUTTING												
26		EXISTING PAVEMENT)	280.40		\$55.00	\$15,422.00	\$32.95	\$9,239.18	\$15.00	\$4,206.00	\$35.00	\$9,814.00	\$35.00	\$9,814.00
27		MOBILIZATION		L SUM	\$30,000.00	\$30,000.00	\$131,000.00	\$131,000.00	\$150,000.00	\$150,000.00	\$486,900.00	\$486,900.00		\$154,004.07
28	70300100	SHORT TERM PAVEMENT MARKING	115,651.20	FOOT	\$1.25	\$144,564.00	\$0.01	\$1,156.51	\$0.01	\$1,156.51	\$0.01	\$1,156.51	\$0.01	\$1,156.51
		TEMPORARY PAVEMENT MARKING						···						
29	70300210	LETTERS AND SYMBOLS	3,378.00	SQFI	\$3.00	\$10,134.00	\$0.01	\$33.78	\$1.00	\$3,378.00	\$0.01	\$33.78	\$0.05	\$168.90
		TEMPORARY PAVEMENT MARKING - LINE										.		· · · · · · · ·
30	70300220		165,774.20	FOOT	\$0.15	\$24,866.13	\$0.01	\$1,657.74	\$0.01	\$1,657.74	\$0.01	\$1,657.74	\$0.01	\$1,657.74
		TEMPORARY PAVEMENT MARKING - LINE		FOOT	6 5 · -	000.004.55	6 0 - ·	A4 50 ·	Ac	A4 50 ·			6 0 - ·	o
31	70300230		153,127.20	F001	\$0.17	\$26,031.62	\$0.01	\$1,531.27	\$0.01	\$1,531.27	\$0.01	\$1,531.27	\$0.01	\$1,531.27
	700000	TEMPORARY PAVEMENT MARKING - LINE	44 000 5-	FOOT	A	# C 000 1 ⁻	AA A C	A	A	A A A A A A A A A A	AA C :	** ** * *	AA C ·	6 · · · o · o -
32	70300240	6" TEMPORARY PAVEMENT MARKING - LINE	14,082.50	FUUT	\$0.22	\$3,098.15	\$0.01	\$140.83	\$0.24	\$3,379.80	\$0.01	\$140.83	\$0.01	\$140.83
			0.072.00	FOOT	¢0.50	£4 E26 C0	£0.04	¢00.70	¢0.00	EE 440.00	£0.04	¢00.70	¢0.04	£00.70
- 33	70300260	TEMPORARY PAVEMENT MARKING - LINE	9,073.20	FUUT	\$0.50	\$4,536.60	\$0.01	\$90.73	\$0.60	\$5,443.92	\$0.01	\$90.73	\$0.01	\$90.73
~ ~	70200200		406.00	FOOT	¢0.00	£202.40	£0.04	\$4.26	¢4.05	\$500 F0	£0.04	¢4.00	¢0.04	£4.00
-	70300280		426.00		\$0.90	\$383.40	\$0.01		\$1.25	\$532.50	\$0.01	\$4.26	\$0.01	\$4.26
35	70300520	PAVEMENT MARKING TAPE, TYPE III 4" THERMOPLASTIC PAVEMENT MARKING -	19,272.80	FUU1	\$1.00	\$19,272.80	\$0.01	\$192.73	\$1.00	\$19,272.80	\$0.73	\$14,069.14	\$0.01	\$192.73
26	70000100	LETTERS AND SYMBOLS	1,126.00	SO ET	\$3.50	\$3.941.00	\$3.50	\$3.941.00	\$3.50	\$2 044 00	\$3.75	\$4,222.50	\$3.00	\$3,378.00
36	10000100	LETTERS AND STWDULS	1,120.00	JULLI	 3.5 0	J3,941.00	φ 3.5 0		ą3.5U	\$3,941.00	და./5	⊅ 4,∠∠∠.50	და.00	as,s10.00

	LakeCo	Dunty Transportation												
	Section:	Gilmer Road Resurfacing 11-00079-17-RS				Return E	Bid Tabulatior	ı						
	CPMS Pin:	Hawley Street to Diamond Lake Road B-00687 03/22/2011												
em No.	Pay Code	Description	Quantity	Unit	Eng Est		Curran Contrac		J. A. Johnson Pa		Payne & D		Peter Baker &	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
37	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4" THERMOPLASTIC PAVEMENT MARKING -	34,426.80 F	FOOT	\$0.70	\$24,098.76	\$0.53	\$18,246.20	\$0.53	\$18,246.20	\$0.63	\$21,688.88	\$0.60	\$20,656.0
38	78000300		6,468.50 F	FOOT	\$1.10	\$7,115.35	\$0.67	\$4,333.90	\$0.67	\$4,333.90	\$0.78	\$5,045.43	\$0.70	\$4,527.9
	78000400	THERMOPLASTIC PAVEMENT MARKING -	4,694.20 F		\$1.20	\$5,633.04	\$0.81	\$3,802.30	\$0.81	\$3,802.30	\$0.95	\$4,459.49	\$0.85	\$3,990.0
		THERMOPLASTIC PAVEMENT MARKING -	3,024.40 F		\$1.50	\$4,536.60	\$1.75	\$5,292.70	\$1.75	\$5,292.70	\$1.90	\$5,746.36	\$1.60	\$4,839.
	78000650	PAINT PAVEMENT MARKING - LINE 4"	142.00 F		\$3.00	\$426.00	\$3.75	\$532.50 \$7,290.96	\$3.75	\$532.50	\$3.80	\$539.60	\$3.50	\$497.
		PAINT PAVEMENT MARKING - LINE 4 PAINT PAVEMENT MARKING - LINE 5"	20,831.30 F 44,573.90 F		\$0.25 \$0.30	\$5,207.83 \$13,372.17	\$0.35 \$0.43	\$7,290.96 \$19,166.78	\$0.35 \$0.43	\$7,290.96 \$19,166.78	\$0.29 \$0.36	\$6,041.08 \$16,046.60	\$0.05 \$0.05	\$1,041.5 \$2,228.7
44	78100100	RAISED REFLECTIVE PAVEMENT MARKER RAISED REFLECTIVE PAVEMENT MARKER	151.00 E	EACH	\$45.00	\$6,795.00	\$25.00	\$3,775.00	\$25.00	\$3,775.00	\$36.00	\$5,436.00	\$40.00	\$6,040.
	78300200		226.00 E		\$9.50	\$2,147.00	\$5.00	\$1,130.00	\$3.00	\$678.00	\$9.69	\$2,189.94	\$10.00	\$2,260.
		DETECTOR LOOP REPLACEMENT FURNISHING AND PLACING TOPSOIL	1,052.70 F		\$12.00	\$12,632.40	\$13.00	\$13,685.10	\$12.50	\$13,158.75	\$12.50	\$13,158.75	\$12.50	\$13,158.
		(VARIABLE DEPTH) BUTT JOINT FOR ENTRANCE RESURFACING	663.70 (995.50 F		\$15.00 \$20.00	\$9,955.50 \$19.910.00	\$22.00 \$7.80	\$14,601.40 \$7,764.90	\$40.00 \$2.00	\$26,548.00 \$1,991.00	\$22.00 \$9.90	\$14,601.40 \$9,855.45	\$31.50 \$14.25	\$20,906 \$14,185
		INSTALL SURVEY MONUMENTS HOT-MIX ASPHALT SURFACE REMOVAL,	23.00 E		\$350.00	\$8,050.00	\$544.00	\$12,512.00	\$275.00	\$6,325.00	\$320.00	\$7,360.00	\$450.00	\$10,350.
		VARIABLE DEPTH FRAMES AND GRATES TO BE ADJUSTED	3,281.20 \$		\$3.80	\$12,468.56	\$3.50	\$11,484.20	\$2.19	\$7,185.83	\$2.80	\$9,187.36	\$4.30	\$14,109
	X6030205	(SPECIAL) ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4.00 E	EACH CAL MO	\$500.00 \$3,000.00	\$2,000.00 \$12,000.00	\$750.00 \$1.250.00	\$3,000.00 \$5.000.00	\$600.00 \$2,500.00	\$2,400.00 \$10.000.00	\$880.00 \$1,500.00	\$3,520.00 \$6,000.00	\$700.00 \$500.00	\$2,800 \$2,000
	X7010216	TRAFFIC CONTROL AND PROTECTION,		L SUM	\$30,000.00	\$30,000.00	\$68,000.00	\$68,000.00	\$306,000.00	\$306,000.00	\$14,700.00		\$54,462.00	\$54,462
		RELOCATE EXISTING MAILBOX	23.00 E		\$250.00	\$5,750.00	\$175.00	\$4,025.00	\$100.00	\$2,300.00	\$211.00	\$4,853.00	\$200.00	\$4,600
55	Z0000500	ADJUSTING EXISTING HANDHOLE RAILROAD PROTECTIVE LIABILITY	4.00 E	EACH	\$1,500.00	\$6,000.00	\$1,620.00	\$6,480.00	\$1,400.00	\$5,600.00	\$1,400.00	\$5,600.00	\$1,400.00	\$5,600
56	Z0048665	INSURANCE	1.00 L	LSUM	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$755.00	\$755.00	\$16,300.00	\$16,300
		Bid Total				\$3,743,533.50		\$2,594,415.06		\$3,130,614.14		\$3,051,694.74		\$2,567,211

業			Dunty Transportation							
ſ		Section: escription: CPMS Pin:	Gilmer Road Resurfacing 11-00079-17-RS Hawley Street to Diamond Lake Road	Return	Bid Det	tails				
	Т					Eng E	stimate			
ltem No		Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		. aj 5000	Becomption	quantity	Unit			11100	11100	
1		20101400	NITROGEN FERTILIZER NUTRIENT	204	POUND	\$3.00	\$611.70	\$1.00	\$2.00	\$1.50
			POTASSIUM FERTILIZER NUTRIENT		POUND	\$3.00	\$611.70	\$1.00	\$2.00	\$1.50
			SUPPLEMENTAL WATERING		UNIT	\$115.00	\$3,783.50	\$15.00	\$50.00	\$40.25
	,	20101100	EXCAVATING AND GRADING EXISTING	00			φ0,100.00		QOO .00	Q10.20
4	1	20200600	SHOULDER	486	UNIT	\$220.00	\$106,854.00	\$175.00	\$325.00	\$225.80
			SEEDING, CLASS 2A		ACRE	\$1,900.00	\$4,370.00	\$1.00	\$3,000.00	\$1,850.25
6			EROSION CONTROL BLANKET	10,978		\$1.80	\$19,759.50	\$0.85	\$2.25	\$1.36
							. ,			
7	7	35100500	AGGREGATE BASE COURSE, TYPE A 6"	263	SQ YD	\$12.00	\$3,150.00	\$4.00	\$9.00	\$5.80
8	3	35100700	AGGREGATE BASE COURSE, TYPE A 8"	345	SQ YD	\$23.00	\$7,935.00	\$4.00	\$10.00	\$6.60
g			BITUMINOUS MATERIALS (PRIME COAT)		GALLON	\$3.25	\$107,588.00	\$0.01	\$0.01	\$0.01
			AGGREGATE (PRIME COAT)	579	TON	\$1.10	\$637.34	\$0.01	\$1.00	\$0.75
11	I		TEMPORARY RAMP	646	SQ YD	\$25.00	\$16,140.00	\$1.00	\$17.20	\$9.54
			HOT-MIX ASPHALT BINDER COURSE, IL-							
12	2	40603085		14,151	TON	\$70.00	\$990,598.00	\$55.00	\$66.55	\$60.06
			HOT-MIX ASPHALT SURFACE COURSE,							
			MIX "D", N70	12,477		\$63.00	\$786,044.70	\$59.15	\$71.94	\$64.91
14	1		PROTECTIVE COAT	99	SQ YD	\$3.00	\$297.00	\$1.00	\$3.60	\$2.15
			HOT-MIX ASPHALT SURFACE REMOVAL, 1	10.000	00 V D	\$ 0.55	* ***	*	.	• (
15)	44000155		16,220	SQYD	\$2.25	\$36,495.90	\$1.70	\$1.85	\$1.76
			HOT-MIX ASPHALT SURFACE REMOVAL,	00.000		¢0.75	¢400.070.00	#4 00	#0.40	¢4.07
16)	44000157	2" HOT-MIX ASPHALT SURFACE REMOVAL, 4	69,080	SQYD	\$2.75	\$189,970.28	\$1.80	\$2.19	\$1.97
47	,		· · · · · · · · · · · · · · · · · · ·	14.050		ድን ግር	¢44,000,00	ФО БО	¢4.40	¢0.05
1/		44000167	1/2	11,956	SQYD	\$3.75	\$44,833.88	\$3.50	\$4.40	\$3.95

*	LakeCounty Division of Transportation										
		Section:	Gilmer Road Resurfacing 11-00079-17-RS Hawley Street to Diamond Lake Road B-00687	Return	Bid Det	tails					
						Eng Es	stimate				
								Min. Bid	Max. Bid	Avg. Bid	
ltem	No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price	
	18	44000200	DRIVEWAY PAVEMENT REMOVAL	608	SQ YD	\$15.00	\$9,112.50	\$4.00	\$9.00	\$6.83	
			COMBINATION CURB AND GUTTER								
			REMOVAL	597	FOOT	\$8.00	\$4,772.00	\$3.00	\$5.00	\$4.45	
			CLASS D PATCHES, TYPE I, 11 INCH	551	SQ YD	\$100.00	\$55,080.00	\$30.00	\$51.20	\$37.05	
	21	44201777	CLASS D PATCHES, TYPE II, 11 INCH	826	SQ YD	\$150.00	\$123,930.00	\$30.00	\$40.70	\$34.43	
	22	44201781	CLASS D PATCHES, TYPE III, 11 INCH	2,479	SQ YD	\$140.00	\$346,990.00	\$30.00	\$39.80	\$34.20	
	23	44201783	CLASS D PATCHES, TYPE IV, 11 INCH	1,652	SQ YD	\$130.00	\$214,799.00	\$30.00	\$38.40	\$33.85	
	24		AGGREGATE SHOULDERS, TYPE A	6,955	TON	\$22.00	\$153,016.60	\$5.00	\$19.05	\$14.84	
			COMBINATION CONCRETE CURB AND								
			GUTTER, TYPE B-6.12 (ABUTTING								
	25	60603900	EXISTING PAVEMENT)	316	FOOT	\$50.00	\$15,805.00	\$15.00	\$25.00	\$21.66	
			COMBINATION CONCRETE CURB AND								
			GUTTER, TYPE B-6.24 (ABUTTING								
			EXISTING PAVEMENT)		FOOT	\$55.00	\$15,422.00	\$15.00	\$35.00	\$29.49	
			MOBILIZATION		L SUM	\$30,000.00		\$131,000.00			
	28		SHORT TERM PAVEMENT MARKING	115,651	FOOT	\$1.25	\$144,564.00	\$0.01	\$0.01	\$0.01	
			TEMPORARY PAVEMENT MARKING								
	29	70300210	LETTERS AND SYMBOLS	3,378	SQ FT	\$3.00	\$10,134.00	\$0.01	\$1.00	\$0.27	
			TEMPORARY PAVEMENT MARKING - LINE								
	30	70300220		165,774	FOOT	\$0.15	\$24,866.13	\$0.01	\$0.01	\$0.01	
			TEMPORARY PAVEMENT MARKING - LINE								
	31	70300230		153,127	FOOT	\$0.17	\$26,031.62	\$0.01	\$0.01	\$0.01	
			TEMPORARY PAVEMENT MARKING - LINE			• -	•	• -	• -	• -	
	32	70300240	-	14,083	FOOT	\$0.22	\$3,098.15	\$0.01	\$0.24	\$0.07	
			TEMPORARY PAVEMENT MARKING - LINE			• • •	• • • • • • • •	••••	• • • •		
	33	70300260	12"	9,073	FOOT	\$0.50	\$4,536.60	\$0.01	\$0.60	\$0.16	

彩	LakeCounty Division of Transportation											
Return Bid Details Project: Gilmer Road Resurfacing Section: 11-00079-17-RS Description: Hawley Street to Diamond Lake Road CPMS Pin: B-00687 Let Date: 03/22/2011												
					Eng E	stimate						
							Min. Bid	Max. Bid	Avg. Bid			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price			
		TEMPORARY PAVEMENT MARKING - LINE			• • • • •	•	• • • • •	• · · -	•			
	70300280			FOOT	\$0.90	\$383.40	\$0.01	\$1.25	\$0.32			
35		PAVEMENT MARKING TAPE, TYPE III 4"	19,273	FOOT	\$1.00	\$19,272.80	\$0.01	\$1.00	\$0.44			
20		THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	4 4 0 0		ФО БО	¢0.044.00	¢0.00	ФО 7 Г	¢0.44			
36		THERMOPLASTIC PAVEMENT MARKING -	1,126	SQ FT	\$3.50	\$3,941.00	\$3.00	\$3.75	\$3.44			
37			34,427	FOOT	\$0.70	\$24,098.76	\$0.53	\$0.63	\$0.57			
51		THERMOPLASTIC PAVEMENT MARKING -	34,427	1001	φ0.70	φ24,090.70	φ0.55	φ0.03	φ0.57			
38			6 469	FOOT	\$1.10	\$7,115.35	\$0.67	\$0.78	\$0.71			
00		THERMOPLASTIC PAVEMENT MARKING -	0,100	1001	φ1.10	φ/,110.00	\$0.07	φ0.70	φ0.7 1			
39			4.694	FOOT	\$1.20	\$5,633.04	\$0.81	\$0.95	\$0.86			
		THERMOPLASTIC PAVEMENT MARKING -	,		• •		• • •	• • • • •				
40	78000600	LINE 12"	3,024	FOOT	\$1.50	\$4,536.60	\$1.60	\$1.90	\$1.75			
		THERMOPLASTIC PAVEMENT MARKING -										
41	78000650			FOOT	\$3.00		\$3.50	\$3.80	\$3.70			
		PAINT PAVEMENT MARKING - LINE 4"	20,831		\$0.25	\$5,207.83	\$0.05	\$0.35	\$0.26			
43	78001120	PAINT PAVEMENT MARKING - LINE 5"	44,574	FOOT	\$0.30	\$13,372.17	\$0.05	\$0.43	\$0.32			
			. – .		• • • • • •	.	.	• • • • • •	• • · ·			
44		RAISED REFLECTIVE PAVEMENT MARKER		EACH	\$45.00	\$6,795.00	\$25.00	\$40.00	\$31.50			
45		RAISED REFLECTIVE PAVEMENT MARKER			#0 F 0	#0.447.00	#0.00	640.00	\$0.00			
45		DETECTOR LOOP REPLACEMENT		EACH FOOT	<mark>\$9.50</mark> \$12.00	\$2,147.00 \$12,632.40	\$3.00 \$12.50	<mark>\$10.00</mark> \$13.00	<mark>\$6.92</mark> \$12.63			
46		FURNISHING AND PLACING TOPSOIL	1,053	FUUI	φ12.00	φ12,032.4U	φ12.5U	ູ ຈາວ.00	φ12.03			
47		(VARIABLE DEPTH)	664	CU YD	\$15.00	\$9,955.50	\$22.00	\$40.00	\$28.88			
47		BUTT JOINT FOR ENTRANCE	004		φ15.00	φ9,900.00	φ22.00	φ40.00	φ20.00			
18		RESURFACING	906	FOOT	\$20.00	\$19,910.00	\$2.00	\$14.25	\$8.49			

*	LakeCo Division of	Ounty Transportation											
	Return Bid Details												
	Project: Gilmer Road Resurfacing												
	Section: 11-00079-17-RS												
	Description: Hawley Street to Diamond Lake Road												
	CPMS Pin:	B-00687 03/22/2011											
	Let Date.				Eng E	stimate							
						Stimate	Min. Bid	Max. Bid	Avg. Bid				
Item N	o. Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price				
4	19 LC600200	INSTALL SURVEY MONUMENTS	23	EACH	\$350.00	\$8,050.00	\$275.00	\$544.00	\$397.25				
		HOT-MIX ASPHALT SURFACE REMOVAL,											
Ę	50 X4401198	VARIABLE DEPTH	3,281	SQ YD	\$3.80	\$12,468.56	\$2.19	\$4.30	\$3.20				
		FRAMES AND GRATES TO BE ADJUSTED			•	•• •• • • •	.	•	•				
Ę	51 X6030205		4	EACH	\$500.00	\$2,000.00	\$600.00	\$880.00	\$732.50				
	50 V670040E	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	1	CAL MO	¢2 000 00	¢12,000,00	¢500.00	¢2 500 00	¢1 427 50				
(52 X6700405	TRAFFIC CONTROL AND PROTECTION,	4		\$3,000.00	\$12,000.00	\$500.00	\$2,500.00	\$1,437.50				
	53 X7010216	(SPECIAL)	1	L SUM	\$30,000.00	\$30,000.00	\$14,700.00	\$306,000,00	\$110,790.50				
		RELOCATE EXISTING MAILBOX	-	EACH	\$250.00		\$100.00	\$211.00	\$171.50				
		ADJUSTING EXISTING HANDHOLE		EACH	\$1,500.00	+-,	\$1,400.00	\$1,620.00	\$1,455.00				
		RAILROAD PROTECTIVE LIABILITY											
ę	56 Z0048665	INSURANCE		L SUM	\$30,000.00	\$30,000.00	\$755.00	\$16,300.00	\$7,388.75				
		Bid Total				\$3,743,533.50							